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«* In these days of conflict between ancient and modern studies; there

must surely be something to be said for a study which did not
begin with Pythagoras and will not end with Einstein; but
is the oldest and the youngest. — G. H. HARDY *

1.1 urdlas

il Aseurdl A iy [As ARdAL Haold sl 6. wF il
Aseunldl AlRd-l qolerol ol o dvuvial Gualol a1y 9, Aol4 i
(Qlyil Rugidl culvaifdd sal w2 awidl Guaial wiy 8. offifa,
AL, Actlarl A3l HEULN U1 Rl sl ¥ 33 8,

o« 2RIl Georg Cantor 2\ (1845-1918)3181+{] ¥ seu-i-il A gilas
st sul. dxel Bty gaiqAl sladiaidl Gia w2 uay

Quid 18Il GUulol sul. il M5WIMT 21UEL d1RL A 6i [Bid Ui+l vl Georg Cantor
e aeL uHl Buial (g ual s, (1845-1918)

1.2 2 2 ang (Rguw

eMs @aqal, susl vell avd AlsA wsRAl d@iidl ade [ oladl €165 ¢lad, Fus
Uil 631, culsavutig 2lor, (B5e-2la 4o, alkidul uel el s2dis axel [ ald sl sl
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lad Bus, uiglas Avaiicdl ayg, [Bleaidl e, 2laeury Avaiziql ayg 401 2uel [@av 3d
Alal aneld Mles s2gf -

(i) 10l -l 24 wglas Avail,xed 51,3, 5,7, 9.

(ii) eura-l gl

= ]

(iii) id youaRidlL R, 22ed 5 a, e, i, 0,u
(iv) Ry usr- Bisiel

(V) 210 «it wu[acioy vaydl, 2ed § 2,3, 567
(vi) adlswn:x?—5x+6=0 -l G3¢, vied 52 w4 3.

A8l ATHle] 3 Guad e3s Geleel A 2uldl Yeurvuilid arqell 3 Availd ade 8. Aed 3 2114l

A 5 vl F-d AMedl uod O 5 Al d Alssusl sl 530 wslA dal el §. ermdl ds el sl
sl 5, AUSe el 2 oucdl ALlaicAl AHerAl Aoy A, U, ol el VL Al HeU 8 ¥,
gd, UBL sel wsla 5, oL o yeuvafid aqlidl axe 6.

v 53 OURAHE Gualal adl ¢ld dal Sedis ail Gelswll »uulel, Fus,
N ol o glas Avausditl o

Z : ol o yRils AvaLieAlL del

.s

Q : oHl o AHU AvALALAL A8
D dRelas Avai-l ae
Z @ e yals Avadi-dl ot
Q1 Hel AHY AvYIALAL AL
R* 1 e aldalds Avaiii-dl ael
Guz galdel [ARre ol F-d A3d a3 suldd O, d A3di-dl GualaL AUEL 24 AHA AU e 5314,

o, UL v AN ARdualoiAl axe 2 yeaaid adl, s8 3 sl auRidare(l

ARG B8 5 AR d M-l ey alsa-calsaxt osaldl 84l
VI, L Yedlvdlid uye Al
Al yelnil il :
(i) eil dacl, H2sl 24 Aedl A vl A6iBd ax-l el 9,
(i) 2wt Ad 2Rt 2{A 9 HoaRiAL sled A4 A, B, C, X, Y, Z 232 a3 suldid 8.

(iii) 218l AU AW HUUERIAL il Ha2 a, b, ¢, X, y, z 43 sula B,
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A ‘@’ B oL A’ L Hes gld dl “a ¥ A -l 464 9.7 (a belongs to A) AN s€l3L. AbLANS
“ol 46U 97 (belongs to)A Als A3d € A3 euldlay. iH 2uel g€ A avilyl. A b 3L AR A -l uey
A S, dl Al vl b g A ad suldlel wA b 2 a8 4 4l 464 441" (b does not belong to A) U8
allgl.

LU, AP HOUERAAL AL VHIZ @ € V, UL b & V. 30 ~il 2lAeuay waydindl Ll Py
3e Pbuq15¢ P

sl galaal w2 o ugla @ :
(i) 4tell 2la (Roster or tabular form)

(ii)oret4¥ -1 20d (Set-builder form)

-

(i) alel-l i a8t ot o qesi-l Algl sdlad 8. 6 gesia salddl Add 42 veufas 35A duq el

gcl

-

Wil 2Ud B A dud wedsia { ) D s 9. Gelewl a3 7 Al il del ou yeilsitil
ot ALeldl AdHl {2, 4, 6} uHEl saldld, Alel-l Ad euladl Sedls i Gerewll 1A
SRR

(a) Bl ad 42 [eued  ddl mglas Avaii-dl aw {1, 2,3, 6, 7, 14, 21, 42}

gl Al Besiel sHe Ml Al M, Gurl A (1, 3,7, 21, 2, 6, 14, 42}30d ueL

Y 52 wsl.

(b) AW HOUARU-AL 68l o A2 8L {a, e, i, 0, u} .

-

(c) x4 Muslas Avadi- o {1, 3, 5,...3 Ad  saldl asid. 2ust 2uupid 58 8 3, 2=yon
uLglets Aval-l A48 2dd »Hl Alqdl.

e 2 el ATl 3, gl Rld 2L quilat dl Besie yeldd« saini ndg Al 2Hed 3 ot

(Bt m2sl o daldi 2id 8. Gelgwl dils ‘SCHOOL’ 26t i-ilddl 3ouaRisl 2l S, C, H, O, L}
wudl {H, O, L, C, S} udl. 2l uesirl s34 518 g Al

(i) opRutad Al Al oLRLeL oldL % desl s UMY O H1d B e d ORI YAl Hesl d AR
il <2l GeleRl A3 {a, e, i, 0, u} ~ll GLHL % H25L 315 ALY ALRHH HUA €9, LRL-AL 68l % ©2sl
A HoUaRAAL A B 2 ol 516 HouaR 2 oy Haadl <l A o Voad saldla dl
BV = {x : x 2 1A Houad Ul a2 8.} uxiel avly.

UBL Ml 5 oRll U olcdiael H2 Add x (516 uel ol Add y, z <Ll Gulal 530
w514 )<L Gualol sul 9 A dell ugdl 7 slad avia 8. sierl Asit sul uel, oLl sitL % B2sil
A 2w dell aa®s o] avlal ¢la A uedl usl 2wl AuA dlqd dorsiAl oy s
¢la, Gur aeldd OBl V A o 3 209 Yol 1R €l ddl el % x -l oL 97 ddld aidl s

-

AL SiA B ol o Besl-l AR’ IS quAY B, sl Y o’ 2 Gudloil da 8. Gelswl a3l ol



4 AL : qReL 11

A={x:x viuLslas AvuL 8 2 3 <x <10} A “oul x 2 uigles qva @ 2 x 2 3 214 10~

cl22] vLelell AvaL 9.7 Al alilel, e, AL 4,5, 6, 7, 8 2 9 218 A -l B2l A,

o Bl BUR (@), (b) 2 (c) Ml aglde dRli Arisi Al A, B2 C Al dl A, B C
s+l Fd 1A wHiEl % 50 wsiy

A= {x:x ¥ 42 4l wglas yals 2aya 8.}

B={y:yal i Houarl Usll a2 8.}

C = {z:z 3 xyou uigles v 8.}
Getgaul 1 ¢ qHlsw@L 22+ x — 2 = 0 L Giaod yiel-l Ad avil.

Gia @ d uHSRWAA (x— 1) (x +2) = 0 a3 avil aslal. 244 x = 1 wydl — 2.
ddl e AxlseiAL Giadieid alel-dl Ad {1, — 2} @3u avil asi,
Gelgael 2 1 olRl {x @ x 2 4 yals dval ® wAd x2 <40} A gl Ad avil,
Bid : uidle dvail 1, 2,3, 4, 5, 6 ©. dell 2ude aeL gl d {1,2,3,4,5, 6} 9.
Gelgel 3 1Rl A= {1,4,9, 16,25, ..} < ol Ad avil,
Gie saute gL A A= {x:x 3 uLglas Avai-l asl 8.}
olloy Ad, U8 A= {x:x=r? 34l n e N} d3 avil agla.

A4 ¢ i G3a ety el Geleel d3 B = {x : x YrAdR yallsl 9ol 9.} uel Giq uiy.
1 N
GEEREL 4 18 V7o oo (b el fld saldl,

Giel : 2l 2 oL@l £35 82541 21 Al Be 53l 215 Fedl 2ol B, 2ol aviid 1 ol wid  uted d 6 &l arid

~ofl, el 2ula R el Ad

n . - .
{x:x=m, Ul 1 A ULsleLs AvaL B A 1<n<6 }ab{l A5,

Gerszal 5 ¢ g1ell ol Aigll Ad eulda e3s el el ol a1 d suldal oL wie dley
AL851 oietlell,

(i) {P,R,I,N,C,A, L} (a){x:x 8t yals & ud 18 L cuys 9.}

(i) {0} (b) { x:x ¥ yels & 2 x2—9 =0}

(iii) {1, 2,3, 6,9, 18} (c) {x:x i yals S And x+ 1=1}

-

(iv) {3, -3} (d) {x: x 2 PRINCIPAL 6e~il 3oue 8.}
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B34 1 (d) i PRINCIPAL 206g+ll 9 #1201 € 2 dHi 6L a1l P oA [Tu-ualdd i 89, 2uedl (i) 2 (d)
A1 A8, o % UHIEL x + 1 =1 dl x =0 glandl (i) 24 (c) e Al eietasl. 1,2,3,6,9, 18 24 18 «lL 4+t
29l © e 21 Rl 18 A 516 et vaud Al 2t el (iii) 2 (a) e A8, D¢l x2—9 =0 cll 24 dl
o x =3 ueel =3, 204l (iv) 21 (b) 218 L85 ei-lasl.
1. (Aol sul a3 o sald @ 7 duidl geust ARl

(i) T2zl U3 Adl 2D SA=eAL Al dHH HRAAL A4S

(i) elcrl e 2l ulasuanoll dvisi-l A4

(iii) gfHal Benl Guu xUBAR slapd-A-]l 2

(iv) dMIRL cdlAL 614l % $915AAL AHE

(v) 100 &l el a8l o uiglers vl AMg

(vi) @uis yall Unde avidl odl o dadsaipil-dl Axe

(vii) olaL % Yoy yelSi-l uxe

(viii) 1L USWUAL 618l USALAL AHS

(ix) glHAULAL vel o cain s wRlaiidl ude
2. A=1{1,2,3,4,5,6} dl vicl wouul 4oy Al e AUl ¢ Y5l

(i 5..A (i) 8...A (iii) 0...A

(iv) 4...A v) 2...A (vi) 10...A
3. AL ol daigll d avil

(i) A={x:xd yals® unud 3<x<7}

(i) B={x:x ¥ 6 sdi -l wislas qval 8.}

({ii) C = {x : x ¥ ¥l 25l AALNL 8 Adl €l del 6 visil AvalL 9.}

(iv) D= {x:x 2 60 «il el vadd S1d ddl 2Ac%d AUl 9.}

(v) E = TRIGONOMETRY 26¢+il H0U&3-L 2131

(vi) F = BETTER 26l ¥U&R1-l 218l

4. +(lAsL ol opRiadHl d qvil :
() {3.6,9,12} (ii) {2, 4, 8, 16,32} (iii) {5, 25, 125, 625}
(iv) {2.4,6,...} ) {1,4,9,...100}
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5. 1Al oLRllAL 68l % B2sl Quil

(i) A = {x:x¥ 2§y Yiglas AvaL 8.}

e = 13 ]. 9

() B = {x:x yals®, —5 <F<y }

(iii) C = {x:x2l yals 9, x2< 4}

(iv) D = {x:x3 “LOYAL” a6l *ouar 6.}

(v) E = {x:xo adl 31 Rad-l - €la ddl Hle-dl 8.}

(Vi) F = {x:x ¥ 23 youai-l suiduR deldl £ udaidl eiu- 8.}

6. stoll oigga uiell d ealda ol ouall ool d-l o a1 Ad euldal ol Al Aisol.

(i) {1,2,3, 6} (a) {x : x 3 [AcU AVvUL 9 AA 6 Al AU 9.}

(i) {2, 3} (b) {x:x ¥ 10 sl -l 21498 uislas AvalL 9.

(iii) {M,A,T,H,E,LC,S}  (c) {x : x ¥ ulglals Avul & 24 6 Al 2idud 8.}

(iv) {1,3, 5,7, 9} (d) {x : x »l MATHEMATICS 26t~il *oueR €.}
1.3 vudla

AR A = { x:x 2 ALY A5 ALSSEA AL0UAL W18 XTI Hi 2014 5L [[enel 9.} @l

WS wonsl Y il Al HIRRL XTI Hi 2edd sl [Renalisl qvan el suy, s A Flad
AvAULAL B25L HULd B,

wuel gd 1Ayl ofled oLl B ddu:
B={x:x ¥ AR 4R8 X A X 6iAul 20d1d sl [@enal 9.}

2148l (Hlatel 53050 5 A s el Renal oid 9ol X vid XT ol 215 a1l vieqin 30 343 R,

14, 8L B M s uvl u2s 4yl
culvdL 1 9 ALl A5 Y8l ees o4 4uddl €ld ddql A4 vidalagl (null set) A4dl
[Rsa o181 (Empty set or the voidset) $€ €.
L AvUlL yHEl B uieloet 9, wuild A vidloel ol vidlaed A5dul ¢ xiadl { } ad salay 9.
w8l {12 viglaidl seals Gelgwl 2wl ¢
() A A={x:1<x<2,x 2 uslas AqvaL 8.}, dl A 2 vitelow €, 51381 § 1 2 2 «{l 423 15 ugl
uiglas AvalL 4yl
(i) A B={x:x2=2=0 -l x > A% qvUl 9.}, dl B rualaiel 9, 5181 5 515 usl AHY dvdl x 2

AH1528L X% — 2 = 0 o AL 5] Al
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(i) A C= {x:x 2 5l {1l 2«ulaeuerd 33 Avul 8.}, dl C vidlasl 8 51280 5 3oy wldeusry
AvUL 552 % 6.
(V) R D= {x:x2=4,x 2 254U 8.}, dl D vuedlaRl 8, 5138 5 515 uRl 2™ x A AHRW 2 =4
AMLMLA A 52,
1.4 Al 2 VArid AL
A={1,2,3,4,5},B=1{a b c d e g} 2l C={elanl g[Hul-l Fel Fel LML cll YL}
a1uel ASH YA 5, A 2 5 uesl A 9 uid B A 6 Hesl 4ud ©. 28 C sedl d2sl Hud © 7
C L Hesisl Aval 2uusl eldl Ael, uid d 5165 Uigles AvuL © 2 d vor HIEL dval €15 45, 28l S -l
nesil vl ved arl S AL el sesi-l Aval An 2B AUDY A d AU 7 (S) gl euldly.
A n (S) 2 wiglas AvaL €1y, dl S A 2§[Rsd Ald ALY (non-empty finite set) s8UA 8.
uiglas vl ol dl. vl A wslal ¢l 3, 2L a8l vesi-l Aval Al A, s1381 5
uislas Avaiuil-l Avel wuMBd, 22000 8. 2usl s¢lel § uislas Avalvildl AL s2dd AL
(infinite set) ©. GU §1UdL ABL A, B 24 C Al~d AR 8 ud n(A) = 5, n(B) = 6 ¢
n(C) = As FlBd 44 yals,
cuval 2 5 o vitell €ld Aaq R 4 uails Fed] qeq Ava qud, d A Al A8 58 €6, Al d
o181 it o181 513

sedls Gelewl A :

-

(i) o AR W A 2salRulAL [Bagi-l 8L i, dl W dlwd 2LelL €9,
(i) 2 S 2 AHL50L 2 —16 = 0 ~ll Gelldl 2Rl ASH, dl S 2 Alwct OLLL 9,
(iii) G 24 vt wl [Blgaildl el dd, dl G vidd 2Ll ual.

o3 el e gl Ad ealdla, AU ULl aRL-L efL % B2siA { Jsluml @vily. ieid dLei-L
ol o g2sld { ) SIAML auial] wsd el 51281 5 dial deil ued Aval AlMHd Al 2l 2vel Sedis
wrid ol Yeldl Ad ealaal W2 d e e W] eulddl 45ty wedl avil d ugldl Aol W2

(vaal d yd«r Aedl w2) sel eusi sl

Betswl R {1,2,3...} 2 wiglas Avaaiidl ol 8, {1, 3,5, 7,...} 2 2304 uiglas dvai-l el

8, {.,=3,-2,-1,0, 1,2, 3,...} 2 YRils Ava12-ll 2181 . 2L 614l % 2180 Aricl ABL 9.

oAy | el o el oeid wielHl d sulel wsidl Al siwel dR3, cidlds AvuiidL aRA

Ad ealel wsta AR, s1201 & 21 d@i-l sl 516 MBud eldd w-qudi el
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Gelgel 6 ¢ 1AL ARl SUL Aled 2 SUL Sl 8L 9 d A58l 53 :
() {x:xe Nud (x-1) (x=2) =0}
(i) {x:xe Nud x2=4)}
(iii) {x : x € N ¢4 2x =1 = 0}
(V) {x : x € N - x [acuord Avl 8.}
(V) {x :xe N x LYY U;\El‘fs 9.}
BE : (i) ude 8L = {1, 2}, 2uell, d Alwd 218l V.
(i) 2ue 2.l = {2}, 21, d qlrdd1LL 9,
(iii) e 218l = ¢. »uefl, d ULl 9.
(iv) 2uel 218l A 6141 o BRI UL 281 8 i w[A %Y ARUBAIAT A1UL 2§, 2112
WULILE LBL el 8L €9,

(v) 2404 4t YRIlSIe] vl wield glenyd], e o8l vield Rl 8.
1.5 AHA AR

AIUe 6] dABL A A B HI2, %L A ~ll Weds 82s 2 B «ll uBl 825 ¢ld dal B Al Ucds e2s 2 A «ll
UBL B2s €M, ol o8l A il B «l UMIeL 918l s&clla, B e @ 3, ol ol uenel Ad sl xs %

gasl 6,

-

vl 3 A A A8 A A B 4 qued A s s ¥ qesl ¢l dl A 22 B d¥id A8l $Edd A
UG A =B 418 Qvily. 8 dl, 21t A8l A1 o8 561Y 21l 2H1ug A # B avily.
vl 1Al Gelgel asy :
()A={1,2,3,4} x4 B={3,1,4,2} adx dl A=B.
(ii) MR 5 A 3 6 5cll ALl 201U AvABALAL 2BL 9 2 P 2 30 1l AA[R61U2Y Bieidell-Al 218l 8.
$5d2, 3 21 521 30 AL 2AQM1%% AU S A2l AL 6 5l AL 89, aufl 6 5l Al udls vAlAonoy ALyl v

30l AU D, 2L A 247 PUHIA D,

A o] ol ol As el AMIR =Sl YrRleld L Ay, dl ARl sleelldl el slval a3, ol

A={1,2,3} A B=1{2,2,1,3,3} A¥lc 9, 5130 § 218 A [l £35 €25 2R B Ml & 2 12l Qe

ugL U 8. 2L 5181 U8l 2L euleldl qvid el Hes YrRlad - sl .

-

Gelgnl 7 ¢ AxteL ol %18l Hl (1 Sl dl). dHIRL Gl M2 S1R8L LML
A={0},B={x:x>15%-x <5},
C={x:x=5=0},D={x:x*=25},

E = {x:x3 uxls30 x2— 2x —15 = 0 < t yals ofly 8.}
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Bi¢l: 0e AxA B, C, D21 E U8l 5165 uet owaiml 0 Aldel el. »uell 2 eald 8 3 A#B,A#=C, A#D,

A#E.

B = ¢ U, elLslHl s16S Rl oL viellowgl Al W2 B#C,B#D A B#E. C={5},43-5€ D

uelL €. 21l C # D.

E={5},C=E dal D={-5,5} ad E={5}. 21Ul %S Al 3 D # E. 2414, A4 R0 55
ws % A C A E -l 8,
Gelgznl 8 ¢ AlAeusial 56§ AAL 8L AL 8 7 1L wellelr] vl AL

(i) “ALLOY” «l M@0l 2181 X 24+l “LOYAL” L 3aaRlAl 2181 B 6.

(ii)A={n:ne Zud n2<4} w4 B={x:xe R4 x2—3x + 2 =0}.
Bia s (i) nél, X={A,L,L,0,Y},B={L, 0, Y, A, L}. 2l2ui a2l Yrlcld- aeid sleeld - €leuell
X 2 B uMLA 28 89, M, X = {A, L, O, Y} =B.

(ii))A={=2,-1,0,1,2},B={1,2}.0 € A 0 ¢ B, gl A 2> B q¥I- L0l -l

1. Rl sul 2 vielaeiAl Gelgel © ?
(i) 2 a3 [aeusd 241 uiglis Avapil-l ol
(i) ¥ou wtlacuwd uiglds Avaiii-l ol
(iii) { x:x 2 wiglas v 8, x<52xudx>7}
(iv) { y:y 2 ol Bt AHIAR Jvuily AL [Blg 9.}
2. ALl S2L o8l ALl dLBL el 5L 2ARL el ARl B ?
(i) cvletl H[ AL 8L
(i) {1,2,3,...}
(iii) {1,2, 3, ...99, 100}
(iv) 100 %l =12l e yeil sl 2.l
(v) 99 sl =il leeiird AvAILAL 2181
3. 1AL aimil sUL 2181 Aleel e SAUL ARL Bielcl 9 o AWML
(i) x-2i8 UHIAR IvUALAL 218L

(i) A HoUa-AL 28l
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(iii) 5 <l oL[Buel 2AvaiAl-lL 218t
(iv) ueell U2 i wiellii-l 2wl
(v) Galeig (0,0) el wAR i acuii-l et
4. «NAAunidl <55l s 5 A=B 8 3§ Al :
(i) A={ab,c,d}, B={dc b a}
(i) A={4,8,12,16}, B={8, 4,16, 18}
(ii)A={2,4,6,8,10}, B={x:x3 4ou tt yals & u-d x < 10}
(iV) A= {x:x % 10 -l o[Rlct 9}, B={10, 15, 20, 25, 30,...}
5. 12 2Uel AL o1RL UML) 7 5181 VL :
(DA={2,3},B={x:x% x2+5x+6=0 -+l G3a 9.}
(ii) A= { x : x ¥ FOLLOW 6g~ll Ha&2 89}, B={y:y 3 WOLF 6e~il 3oua: 8.}
6. (13 e il AHLL AR UAE S :
A={2,4,8,12},B={1,2,3,4},C={4,8,12,14},D={3,1,4,2}
E={-1,1}, F={0,a}, G={1,-1}, H={0,1}
1.6 Guanl

g2l 3 o8l X = ] woniAl cHiH a2l ol dal Y = dMil adi-l dxd Riansl2-4L sl

Rl Ul § 2Rl Y il 635 es 2 oRL X <Ll usl Hes 8. usl s€laL &, 281 Y A X -l Guat
8. Y 3 X -l Guotsr (Subset) ® o g8lsal U8l Adaml Y < X ol salellal. Adcd < 2 wosAng
“GuoaLel 97 Ayl Ul uMUAR 877 (“is a subset of ” Ul “is contained in”’) 12 BuHlaL s34,
vl 4 ¥ A8 A ~il UAS 425 2 A8 B o+l UG 4es &l dl A% A 4 A9 B il Guosl séald.
ol Ad 3612l dl, 242 a € A€ld ASae B &4 dl AcC B .

qoll quid As ‘=" aurd] vwqza €l . d-l i 4e (implies) sy i Asudl Guala s,
2yel Guowl vyl 14 wugl avily :

¥lae A=ae B, dlAcB.

R BUY, sl 2L WAL ALYy, ‘ol UdSs a MU, a ¥ A -l 4es ld, dl a ¥ B il ugL ges 9"

2 ot dl A2 B+l GUaLRL 9. oL A 2 B «ll GuaLsl « €ld dl 21Ul A ¢ B avily.
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UBL ~HleL 5, Al B «ll Guotel el M2 2L 33 8 & A -l 35 des B Ml €loll A5, B «ll £35 ues

3

AU Sl veal L UBL 1Y dH AsY 9. %L B -l 835 Hes A ML uBl €l del wsY ol ol e B c A

-

avlel, wtial BRUM A 2 B AL 2Rl i, 12d 3 AcB i Bc Ao A=B,

-

§WEl “o” 3 BUWL (two way implication) 2l s 9. A=l usl M Ad “al 2 dl ¥
(if and only if 254L, “iff”) w8l ailal.

-

Bual crval uell slia wld 6 5, 835 218l A Wid Uldldl Guael 9, ¥ed 3 Ac A, vuelas ¢
s uel des el el 2uel Aucd udy 5, ¢ 2 eds ol Guoel 8. ¢d 2wuRl sedls Belgwl
A1

(1) dHU AvAAAL 218l Q VL clc[As AUva(leAL 218l R L Guaiel 8 2+ 2iusl Q < R avily.

(i) %156 AL et URLS AaUdldl R A el 56+1L Hel 2i[A0U%% YIS Aaudi-dl 28 B €, dl B 4

A L GuoatRl ugl v 2Bl B < A avilel.

(i) VA = {1,3, 5} 2 B = {x : x 3 6 sl Ul 2«2ou wiglans vl 8.} ad¥, dLACB -

B c A 2 A =B,
(V) A={a e i o u}2iB={a b c d} ddl, A2 B -l Guagl «l. B usl A il Guael .

L3 AuA BoldRL 9. ALACB2wuA A#=B €, dl A B+l GRd Guael (Proper Subset) 58

® 2 B A A -l ARAUBL (superset) & 9. Gelewl a3,

A={1,2,3} ¥ a1 B= {1, 2,3, 4} -l GRd Guael 9.

AL AR A Al A % U0 Sl dl dA s8] (singleton) € 8. 2H, { a } 2 w58 S,
GelgeL 9oL o, A={1,3},B={1,509},C={1,3,5,7,9} »idal 8.

13 galdel e3s oeiel A4l a2l Al © 2=l  AHLER 53

@) 0...B (i)A...B (i) A...C (iv) B...C
Biel: (i) ¢ A 835 deirl Guatel 8, »1l ¢ < B.

(ii)3 € A3 ¢ B. 218l A ¢z B.

([ii)AcCsiR 3 1,3 e Axd 1,33 CHiua s,

(iv) B C 51281 § B 1l 835 825 31 C 1l UBlL 825 9.

Ges2e 10 : A={a e i0u} Ui B={a b, c d} dl. A2 Bl GuaBL & ? -l (Al 112 ?). B 3 Al

GualRl 8 2 AL (AL M2 ?)
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GElg2mL 11 : A, B Co 2R 8. ¥LA € BAUABCCdlA cCuy & 2%l dHIRl B U gl dl
Belgwl i,
G el MIRL3 A= {1}, B={{1},2} 24 C = {{1}, 2, 3}. 2T A= {1} dlcuell Ae B 2+ B c C.

WAAZCsR8L51e Axdlg C.

A

2usl AlHlel 3 oLl ges 2 uld Uldiedl Guorsl il
1.6.1 ARd[As Avai-L v Guael

(Glear 1.6 MU «lltl YISl R -l 8l 2A9Lcdell GUOLRLL €. wUBL 2ilcll Seells Guoateild «{la wausl
s s20g -

ulglets vl oL N={1,2,3,4,5,...}

yells dvii-dl oLl Z={. .., -3,-2,-1,0,1,2,3,...}

o . o p -
UHY AYLAIAL AL Q= {x:x = E,p,qe Z ¥ g # 0}

- - . . - J = = = o p

dd L urel ally “p A g uls gld ddl ¢ 2w-id iy dal wyaist ;vﬂ AvL. Q V.7

. . =5 N 5.1 7 . .1
QHl 59, (d- e w[opesd 53 wsid.) - 35(&-?1 53l o sc 530 wsAL) A Y

AL UM Yl Q HL 53] s,

AU v A T git ealellel, 2 T 24 A3y vyl Rl ol drdlRs Avad-dl

oAell 8, M, T={x:xec Ryl xe Q}, »ied 5 T AHU « &lu ddl cdizalds Avaivti«l o8l €9, ARULL/2,

V5 2wl T RO ud e w9,
2L GUILRILAL 32els U Aol :
NcZcQQcRTcRNgT.
1.62 R -l Guadl dd3 vidua

WAL 3 g be R a < b drdlds 002l 8L { y:a <y < b} A [dgn 2iaud (open interval)
58 © 2 dd (g, b) A3 sUlAU V. g weA b Al A Bigil R 2idle (g, b) ¥l dai 9.

U, @ el b Uld L el el

% BiclRAUL Aol viABlgpil-l ueL uHd Wd B dA AYn AdAd (closed interval) 58 © 2 d-

[a b]ad ealctd ©. 204, [a, b]={x:a<x<b}.

b T}

s viculbrga Agd v ol culblgyl g dla el Hcrlel uel >uuel wd 8. xed 3,
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[a, b) = {x :a<x<b} 3 a-l AHdA sl &ld A b Al AHALU Sl ~il €14 ddl a ol b H-l
g »drd [a, b) 9.

(@ b]={x:a<x<b} b Auddl 2 a4 4 Aulddl a 4l b YU Rgd 2dua &,

ARAS AvaLieAL d8l-l Guateld MERL sal M2 2L Asuil 6l (Bl a3u Y ud 8. Gelsel
dls %l A=(=3,5) 2"l B=[-7,9], LA C B. &L [ 0, c0) 2] 2iriBl cllcl[eLs AvauLviLAL 8L v Rl
53 69, 918l (— o0, 0) U B cliRcl[A s AvULBALAL A1RLA ALVULRA 53 D, 8L (— oo, 00) U Alcl[ELs AvULALAL
ozt eld 8. d — oo 2l co YH elotider Juil Al Bigi-l ot eald 8.

GuR aeldal R L %el-ogel daundld Avaidv u sl 1.1 wael 2% 530 s,

(a,b) [a,b] [a,b) (a,b]

@ 4 ®
b

O
a a b

=0

O &
b

U
a

-]

2usd 1.1

WL, 2iuRl A8y 5, e 2 eld AvuHl Bl 2uda 82 8.

Belgel a3, ol Ad sulde 2@l {x:xe R, =5 <x < 7}, A AHduel AZUHL (=5, 7] A 2idud
[-3,5) A ol d {x:x e R, -3 <x <5} uHgl avil asiy.

AvuUL (b —a) A 515 uelL vdud (a, b), [a b, [a, b) AUl (g, b] -l dollS $8 &,
1.7 a2

aBL {1, 2} @l. AR {1, 2} Al 4l % Guatel el 2Bl ARl ¢lal & ¢ i 35 dRl-l Gualsl 9.
A1l A {1, 2} UL GuotRL 9, 2Bl AUS WSl 5 {1} 24 {2} UL 2Rl {1, 2} AL GUaLLL £, 24Ul 2 gL
ellad 912 5, e35 281 Uid L UldlAl Guatel 8. il { 1,2} 3 {1, 2} <L Guatel 8. M, A5l 218l
(1,232 Guaeil, ¢, {1}, {232 {1,2} 8, 2 iy Guateiial a { 1,2 } AL alaoel sele.

bl

vl 5 2@ A Al dn Guasild]l oeidl e A «il dlaot (power set) 56 €. d- P(4) a3 gulqd €.
P(A) vl €35 825 21 281 69.

M, GUR Rl WML AL A={1,2},dl

P(A)={0o, {1} {2}, {1,2}}

Q;lll';’l'f[ﬁﬂ&\g}n[P(A)]= 4=27

us €3, %L A2 A M2 n(A) = m, dl n [ P(A)] = 2" oldicl usiy.
1.8 udBis 2w

UM 51 RIS AeolHl wuel s FMBad Maeld d1eLAl GUaLRIL 2 25l UL 513 $cll

N

S1990 elal A d [Re Aeeldl yAold €l 8. Gelerl dld, wud vl Aglardll Aeu sl
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SLEA R wusl uiglins Aveuiidl oL 2 dell Guatell Fus, wleeurd Avusil-dlL o8, YU
AvALALAL O18L A LAl Gl 2UBL 4 Acll €152 A, wiell yaeld R “‘eudBrs oo’
(Universal Set) 58 ©. A1clBLs a1kt AU1xi=2 Ad U glal 2 dl o8l GuaRild A, B, C <l
= r - ~
gL gLl el ¢l
Gelewl 13, yeils Avaiieal el M2 AdBls el dld ARU Avudl-dl 8L nYdl didAls
AvALLAL 21RL R €18 a5, olla Gelsel dls aucl-owidlel mnonaml gl el o culsauil
el el BLs oL daly as asi.

1. «(lAAl [auidl Al oid d 2d vl oMl sl ¢ Audl ¢ YR :
(i) {2,3,4)...{1,2,3,4,5}
(i) {a bc)..{bc,d}
(i) {x :x ] wol gk XT AL Rienedd 83 ... {x :x 2 ddiRl wonl Rienyd 9.}
(iv) {x:x AHAAHL A B ... {x 1 x 2 AL ¥ AR 1 254 Blosaiey ada 8.}

-

(V) {x:x 2 AMadaHl Bisiel 9.} ... {x 1 x 2 AHAAH] ol 8.}

-

(vi) {x :x A AHAQUL AHoUy BLsier 9 ... {x 1 x 2 2L o AHdAA-AL BLsie 9.}

-

(vii){x s x 2y wislus AvaL 83 ... fx:x A yals v 8.}
2. <Al [anidl A 9 5 A d-l usaell 52
@) {ab}z{bca}
(i) {a, e} c {x:x 2 23A® Youarl UslHl 25 @R 8.}
(ii){1,2,3}c{1,3, 5}
(ivy{a}c{a b c}
) {ale{abc}
i) { x 1 x M 6 scll -l You iglets AvUL 8.} < {x:x 2 36 -l vaud gld ddl wiglas v 8.

3. A={1,2,{3,4}, 5} 9. A Q- 45 sul (A4l A0 9 244 WL M2 7

() (3,4 cA (i) (3,4} € A (i) {{3,4}} cA
(iv)leA W) 1cA (vi) {1,2,5) c A
(vii) {1,2,5} € A (viii) {1,2,3} cA (ix)oe A

x)ocA (xi) {6} cA
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4. 1A Ul LBIAL dMIM GUILBRLL @vil :
(i) {a} (ii) {a, b}
5. %Al A=0 €ld, dl P(A) - $2el uzsl el ?
6. <2l dnd @30 dvil :
() {x:xe R,—4 <x <6}
(i) {x:xe R, 0<x <7}

7. {1 2ulial Haudl Rl Ad avil

(1) (=3,0) (i) [6, 12]

(iii) {1, 2,3} (iv) ¢

(i) {x:xe R,—-12 <x<-10}

(iv) {x:xe R,3<x<4}

(iii) (6, 12] (iv) [-23, 5)

8. (Al [l M2 d3 sl oA AdBLs oL dld ue sl :

(i) st2s1eL Brsieti-l aw (i) (e Busieii-l o

9. A=1{1,3,5},B=1{2,4,6} 1. C= {0, 2, 4, 6, 8}, 2UUA 218l 8, 2AL 22 AN A, B i1 C 112 ~{lA-Hizl

5L ol ALdBLs ol dld a4 wusiA.

(1) {0,1,2,3,4,5,6} (i) o

(iii) {0,1,2,3,4,5,6,7, 8,9, 10} (iv){1,2,3,4,5,6,7, 8}

1.9 | d--2usla

AR Al HUMRA A sldbll gl 3% KRAHL 2L . daut U

N A 2u5lA2i (Venn diagrams) 2. el €13 280 asarell John

Venn (1834-1883) Ul - uRell ddt -t Usfl U 209 8. 1L 2usldil
cloiRY Ae oy agl, Heed adoil-l oirel 8, Api-y Ad wdBis

el 2R A Al GUaLRlA adu gL sty 8.

de-pitg 2l oAl qefld dud A-3u adoul sala 8.

(2trglet 1.2 244 1.3.)

geid 1: gl 1.2, U={1,2,3, ..., 10} 3 20dBis gt & 2

A={2,4,6,8,10} 3 cll GuargL 9.

geid 20 gl 1.3 30, U={1,2,3, ..., 10} 2 ucBLs 2w 8

el A= {2,4,6,8,10} 2l B = {4, 6} clvll GU2ABIL ¥ cl2ll B c A

uel 9,
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I HLUEL 21012181, 918l 2 dsleic dRL-l AAL 530, Al dr-2ALs el cutus Gualol A S aslal.
1.10 2 Zui

AW1oL0LeAL <Ol{MD UG b2 UR UL, 6lLeolls], dLRISIR e aldwsl+(l Bl 3l Jld sl
dril 2euid 541 2Bl 35 [Bul s2aL M2 6 Avail-l %18 A4S d uKl 24 AvUL A0ddl gdl. Belewl a3,
I BIUBL AV 5 2 13+l % U ueoul Bul 5302 dl ULt AqvaL 18 1AL, sl %ldl 2l
AW 5 2 13 28 uR dpusi-l B 5302 ol 2wuRtd 65 L. d o WMl 6l a8l uR seells [Buiil
scliell g o8l 1oL, ¢d UL 2L UR AlssA il s306 2 dietl Ry sl gl sl ol
of olRilell Aeal 5155 ALLBLy dteL-L Guatel a3 asey.

1.10.1 0219181 ¢ 912 & A 2l B 5155 o8l 8. A AUl B ~il 49198 (union set ) A2d & A «ll dHI™
g2sl clal B el clMIM B25l cl2ll d¥ell AL H25l $5d s cvicl eelladl olelcll 9181, 1912181
sallaal M2 Add ‘U’ AL Gualol s . uitRis Ad, uEl A dul B AL dRRIRLUIRZ A U B avily.
A U B <l 21Ul 4 419 B(4 union B) iy,

BeldawL 12 : A={2,4,6,8)} x2i B={6,8, 10,12} 8. AU B Huadl.

Gia :qURA A UB={2,4,6,8,10, 12} 1019l. »1u8l 42 3 AU B avidl avid M 8251 6 2
84 s % avid ¢luL 8,

GeldreL 13 : A={a e i, o, u}HAB={a i u}® ocldl 5 AUB=A.

Bie 2w UBAAUB={a e i 0, u}HAl. il Geleel sauld 8 3 o018l A 24 d-il Guatel-l doL A vld

~ =~

%8, ¥ed § BC A, dlAUB=A .

Gergael 14 ¢ ol €18l QM 4l el XT L Renel»-l ol X = { s, ol 215612} 8. woudl secliad

AnAl L HRAXT L [RenelaAl a@ Y= {oldy, 3as, 2als} 8. XUY WHl, 2R A vdsed s,

Bia : X UY = {u, olldl, 1561, 3[Q8, L) ud. HReL XTI Al % [Renelail ¢is] Auul el

eollel Ml daal ofAul 8 dat [Renelail-l 21 ow 8.

WL, ALUEL 6L dRLell LR «(l2 waiel el sy -

Ul 6 U9 A AHYdL A8 B Ml ddel (eh awdl G4 d A4ldd) |U
ddy aesiel] onidl AR A ¥4 B Al o8l 58 9. HSAMI HIus) A

AUB = {x: xe A ¥4l xe B} avly.

ol ol qooiRtd 2glet 1.4, Ml ealeal wxell d-2ugl AUB
gL 2% s34 wgld 1.4

Aiglet 1.4 L 1 536 @l AU B eald 8.
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WifFaru d2ens A@anHl

i) AUB=B uUA (4l [74%) (Commutative law)
) (AUB)UC=AuU(BuUDC) (a-l (Fu¥) (Associative law)
(i) AU d=A (254 aesdl [Fu, § 2 U -l 2§54 aes ¢9.) (identity element)
iv) Au A=A (2a¥ald] (<44 - Idempotent law)
v) UuA=U (U #il [u%)

1.10.2 920181 < 38l A 2 B il ¢9g8 (Intersection set )3 6l 8L A el Bell dHId ALHL=U U251l
oiridl o1RL 8. BeolRl eulaall Add <A’ L GUALLL YUl . A w1 Bl 92181 24 A 3A B o[ vildel €l

el gesll osiadiael 8, Al3ls Ad ANB={x:xe Axd x e B} dvii.

GELS20L 15 : BelgRBL 12 ML w1l AL A ¥+ B 412 A N B 24l

Gie s wusl 1S ALlH B 3 $5c 6, 8 vl 6l AL A v B Al 1ML 825 9. w1l ANB={6, 8 }.
GELERRL 16 : BGelg®l 14 AL AR X A Y HI2 X N Y 214,

Bia :2ugl ASY “Oldl” A old ARl As Hizl AL H2s 9. w1l X N Y = (2(ldl).

BelgaweL 17 :A=1{1,2,3,4,5,6,7,8,9,10} A1 B={2,3,5,7 } 412 A N B 24l 2 d U] elclicll

5 AnB=B.

G54 :ANB=1{2,3,57}=BHag. xusl <l 3 Bc A 254 doll AnB=B.

vl 7 6 Al A A B Al Ol Yed 5 A ¥ B ol a9l wdal  |U
Al qesid] oiridl 8L HsaHl YA ANB ={x:xe A Ui x € B} A
avily. gl 1.540 20 el AxiA B Al eolsL oldld 8.
Lol AdABHZ ANB=0,cl Axd B WU 448 ANB ’
. 2u4ld 1.5
(disjoint sets) sdel,
Geleel a3, A={2,4,6,8}udA B={1,3,5,7}dl A% B U
URRUR DB 8. 5181 5, A 2 B I AULHLIRL €1d el s ULl u2s
well, uuR el de-agle, gl 1.6 sl euledl as.
SelFui-u J2aus spausl wugld 1.6
(i) AnNB=B n A (541 [Hun)
i) AN B nC=An B n O (zu-ﬂ ()
()0 NA=0,UNnA=A (0 21 U -l FRuw)

(iVVANA=A (RauELdl (fuy)
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(V) AN(BUC)=(ANB)U(ANC)2d & delFul 2 diafzul v [Qeux 52 9.
(lcuo-il (R4, Distributive law)

{12 sulda d--2igliil uel Gua-l [MuHl ay e adl.

U U

@  (BUC) (i) (ANB)
U

(i) AN(BUC) (iv) (ANC)

(v) (AnB)uU (ANC)
(1) to(v)
ausld 1.7

1.10.3 dSlcld 2181 : AR A 21 AQ B ~il 2l $%41 d$ldd ALl (Difference sef) Yed oL B 4l 4 €14 ddl 28 A il

-

aesiel] oiictl o8l Al3(as Ad 28l d- A B g ealdls 247 “ Aminus B a4y,
GelgawL 18 :A={1,2,3,4,5,6},B={2,4,6,8}¢cl. A—B 2l B— A 204l

Bia :uesl 1,3, 5908 AHL 8, U B i 2l el Auid A-B={1,3,5} 10l xd B—A = {8} u4l,

5128 5 8 B AL 8 U, A i el 2uusl idly 3 A-B#B—A.
GewR 19: V={a e iou}qiB={a ik u} . V-Bud
B - V a4l

B5c :u2sle 0, VHI O, Ui B 4l el 208l V-B = { ¢ 0} Hudl

e 825 kOeL B HU 9, U V ML Al 20l B—V = { k}.

Al 4lY 3 V- B # B - V. o+l Ad 2uudl dstad @il BA
ol U A-B={x:xe Aulx ¢ B} avily.

6l 318l A At B -l dgteld dteiel ce-2ugleid 2auglcl 1.8 waisl 2%

53 wslA. (ANB)

(et 1.8 ui 29l &1oL 24 280l A 244 B (L clslelel 28l sauld 8. 2u5(d 1.9
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e

(rugll : ol A—B, AN B 2 B—A UU ARl 8, 22d 5, sl 1.9 Ml oldieul wHEl 21
oMYl 515 Ul 6l 2Rl 9ed1el wielalel 9.

1.« 2uudl A2 A-0AL d121218L @ul

(H)X={1,3,5},Y={1,2,3)

(iYA=[a e i o0 u},B={a b, c}

(i) A= {x:x 2 3 «{l afRd wslas vl 8.}, B = {x: x 2 6 &l «Uu-{l wislas Avul 8.}

(V) A= {x:x ol Wslas A 8w 1 <x <6}, B= {x:x v wslds v & 2= 6<x<10}
(V)A={1,2,3},B=0

2. A={ab},B={abc}d.AcCB®? AUBYua?

3. %ALACB $ld ddl 6l o2l AL 14, dl AUB g udl ?

4. AN A={1,2,3,4},B=1{3,4,5,6},C={5,6,7,8} 24 D={7,8,9, 10 } lu, cll {121 21 A4 :
()AUB ()AuC (ii)BuC (iv)BuUD
VAUBUC (vi)AUBUD (vilBUCUD

5. ws 1Al el AL il HeolRl kL.

6. AL A={3,57,911},B={7,9,11,13},C={11,13, 15} 2 D = {15, 17}; €14, dll {121 2121 24l :

() ANB ({i)BNC (i) ANCAD
(iv)ANC V)BAD (vVi)An (B UC)
(vii)AnD (vii)An(BUD)  (ix)(ANnB)N(BuUC)
x)(AuD)Nn(BUC)

7. WA= {x:x 2 Uglas Ava 8}, B = {x:x 2 o4 wislas Aval 8}, C = {x 1 x 21 21404 Wislcs Aval 9} 2
D = {x:x 2 ez vl 9}, dl AL 2 Hadl :
() ANB ()ANC (i) AnD
(ivy BN C W)BAND (vi)CND
8. «(lA- aueil 2240 5¢ A1geil 212 YRR HedLLRL B ?
(1) {1,2,3, 4} 2 {x:x 2 21304 Wslas AU 8,4 <x <6}
(i) {a eiou}xi{cdef}

(iii) {r:x 3 ¥ou yails 9} A {x: x A 2xou yals 8)
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9. AA={3,6,9,12,15,18,21},B={4,8,12,16,20},

C=1{2,4,6,8,10,12,14,16 }, D= {5, 10, 15, 20 }; cll 121 28 Hadl :

(i)A-B (i)A-C (ili)A=D (ivyB-A
(V)C—-A (vi)D-A (vii)B-C (viii) B=D
(ix) C - B (x)D-B (xi)C =D (xii) D= C

10. AL X={a b, c,d} ALY ={f b, d g}, dl 1AL 28 qad] :

) X-Y (i) Y-X (i) XNY

-

11. %L R 2 cllc(eLs Avuipiiell 8L i Q AHU AL 2181 $ld, dl R— Q oLl ?
12, 120 Rl At & 3 20 d el dairl aie-l deieldl A5 :

(1) {2,3,4,5 ) 2 {3, 6} URUR AL 89,

(iiy{a eiou}ai{a b c d}UIRU AL I,

(iii) { 2, 6, 10, 14 } el {3, 7, 11, 15} URUR AED21218L €,

(iv) {2,6, 10 } e {3, 7, 11} U HEDL218L 69,
1.1 MR 5

dHld 2leusd AvpicAl 2R dBLs 28l U dd @l A 42 -l 44 wadd A €l ddl
wlAcuod AvAI-AL oL A 3L 3R U AL Guail 8. 24, A= {x : x € U -l x L 42 L 4l 2qyq 2}
wWUBL A6Y 5 2 € U, Ulg 2 ¢ A, SR2 5 2 3 42 L 8 vaud ©. d ¥ wudl 3 e U ulg
3¢ A, ol 7eUuUIL7e A. 8 ol 2,3 2 73 U ~ll A Ml - €l dal 82sl 8. vl 218 wleeiry
AL 2Rl Aed 3 {2, 3, 7} A U L Aeeldl A <l Y2s AR (Complement of A) 5& 9. A d-
A" ad salend 9. el Rl A' = {2, 3, 7} Hogl, M, Huel AL 5 A'={x:xe Ul x e A}.

L Al yl Al L vl

-

MUl 8 ¢ WL S U A AelBs oL 8 A A A U Al Guatel 9. 2 L A MU A €l dell U =l
dAMld ueslel oddl 8l A <[l Ys 218l 5& 9. AddMl 2usl U AL Age{ul A <L Y2 deid A’
g1l eldly.

WM, A'={x:xe Undxe A}.2d3yed 3 A =U-A

§uEl AlHlA § A AL uRs oL (g elle Ad [QaRlx, dl A <l ws oL 21 U 2 A L csleld

oLl €9,
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-

BelgawLL 20: U={1,2,3,4,5,6,7,8,9,10} 2 A= {1,3,5,7,9}. L A" 2lHL
Giel - 2l AiElal 3 A MDA €l dal UsLazsl Hist 2,4,6, 8,100 A d UHi dl © . 218l A'= {2, 4, 6, 8,10}.

Gelganl 21 ¢ s AslBae »>udl wonr HRer XT AL Renelaiidae owid adBrs el U dd |l A
el XTI Al e91otiaiidl oL A el A' 2lHl.

G @ ol e9tatnliAl oL A glelell 2 2ue 3 cdl-AL 9ol oLl A' 9,

Feln | ol ol A ¥ By vl U Al Guoatel €l dl d-ll Ys oL A’ uel U AL Guawe 8.
GeleWL 20 ML A'={2,4,6,8,10 } 1oL 9. AL (A')' = {x:xe Udndx g A"}

={1,3,5,7,9} =A

ys ALl el el ue 8 3, ArcdBLs a8l U AL 515 uel GUaRl A2 (A')' = A wi.

g UL (AU B ) 2 A' N B' [@vas uReuHl 120 Gelswil vl dadla ¢
Belwgaw 22 1 U={1,2,3,4,5,6},A={2,3} 214 B={3, 4, 5}.
A,B',A'N"B,AUB WHL 241 d wl sldldl 3 (AUB) =A'NB..
B34 :A'={1,4,5,6} 214 B'={1,2,6}8dued. 2l A'nB'={1,6}
all, AUB=1{2,3,4,5}. 2l (AUB)' ={1,6}
(AUB)={1,6}=A"NnB'

Gul wRBLHL ctus Ad A 9 dx eldicll AsA. %L A 214 B A

ULelBls o8l U« Guael &l dl (AU B) =A'" N B'. d % ?d

(ANB) =A"UB'". 2l 6l uReuHld eusuml 12 usiel 2% 531 asi:
o oLeIril ALoLOLGLl YRS OBl ¥ Ml YOG 9L €9

ol oGl E9EARIHL YRS AL 2 dHwl Y5 ULl ALY €9, il

[F4*4l-i De Morgan’s laws 56 €. 2[BldRo(l De Morgan -l 14 U] 24

A BUUAML U B, AR A L YRS AL A’ A d- usld 1.10 W 2usld 1.10
elda .

20l a1oL A -+l Y5l suld 8.
YR AR S2ells ARIUHL

1. ys ol [Fad : () AUA'=U (i) ANA' =0

2. &4l MuM () (AUB)' =A'NB' (i) (ANB)' =A' UB'

3. Byrs awedl Ry : (A") = A

4. viielatel 2 WGBS vl Fadl 1o ' = U4 U' = ¢

L [Faaial da-2ugla gl a5l asia.
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1. U={1,2,3,4,56,7,89},A={1,2,3,4},B={2,4,6,8} 4 C={3,4,5,6 8. «{la1 012 24 :
() A’ (i) B' (iii) (A U C)' (iv) (A U BY v) (A" (vi) (B=C)'
2. NU={a b cdefg h} i, dl AL Rl Y5 2 WAL :
() A=A{a b, c} (i)B={d e 1 g}
(iii)C={a c e g} (ivyD={f g h a}
3. wslas Avadia o dBLs ol dy ass, 1A 2ulal el yas aeL Akl :
(1) {x s x 2L Yo wuglas AvaL 8.} (i) {x @ x 2 200 Wiglels AvaL 8.}
(iif) {x 1 x 2 3 Al 4ot B 8.} (iv) { x : x 2 w[Qouary Ava 8.}
(V) {x:x 2 3 A 5 A [Acuory wslas Aval 8.}
(vi) { x s x 21 yelasl 9.} (vii) { x :x ¥ yeud 9.}
(viii) {x:x+5=8} (ix) {x:2x+5=9}
X){x:x=27} xi) {x:xe N 2x+1>10}
4. AU={1,2,3,4,56,7,8,9},A={2,4,6,8} 2 B={2,3,5, 7} €, dl
() (AUB) =A'NB' (i) (AN B) =A' UB' A3l
5. «llAdAL e 2 dioy A=Al €1 :
(i) (A UB)' (ii)A' " B' (i) (AN B)' (iv)A' UB'
6. AUdAAL A Bstert o U dils dl. %L 2l 200l 2Ls wieil 60° 2l [t €l dat Busieiil ol Agly,
dl A’ gl 28l ?
7. A [l At i d d viel @oun YR

()AUA'= ... (i) o' NA=... (i) ANA'=... (VU NA=...

112 6L 212 A1OLOLGL i HEARL UL AlAURS 2us-l

(Rl veui 4. 21 QUMD UUBl EMs @ ualdl Sedls cagiRs Q
uAdl ASY. 2l [Qewdil sliicl vl saels Aoll-l WOl UsWL

AGLAL(USWL 16) ML ULl Gulal sy

10101l [RALGLLILHME 2ALUBL 6L ARLAL H12A1BL, &Rl Bl dSlelel A8l

(ANB)
ausld 1.1
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YA 5, A A Bl R0 8, AL ANB=¢ €4, dl
()n(AUB)=n(A)+n(B) e
AUB il 8251 A 2udl B L 84251 8, U3 ANB =0 laiail 516 g2s oid a1imi el 2, (1) e o sléd a8,
U s 13U, %L A 21 B Al 2181 14, dl
(i) n(AUB)=n(A)+n(B)=n(ANB) ()
A-B,AN B2 B—A uu2 el 28l 8 dy ity 24 du-l @t AuB & (gl 1.11). 32
n(AUB) =n(A-B)+n(ANnB)+n(B-A)
=n(A-B)+n(ANB)+n(B=A)+n(ANB)-n(ANB)
=n(A)+n(B)=n(ANB).
21 Yo (2) 1 asiusll .
(iii) %L A, B 21 C ALt 2020 €1y dll,
n(AUBUC)=n(A)+n(B)+n(C)=n(AnB)=n(BNC)-n(ANC)+n(ANBANC)..(3)
VR dll A8,

n(AUBUC)=n(A)+n(BuC)-n[An(BuUC)] [[(2)urdl]
=n(A)+n(B)+n(C)-n(BNC)—n[ANn(BUC)] [(2)u2dl ]
all, AN (BUC) =(ANB)U(ANC) glaudl, gt
n[AN(BUC)] =n(ANB)+n(ANC)-n[(ANB)N(ANC)]
=n(ANnB)+n(AnC)-n(An BNC)
~n(AUBUC) =n(A)+n(B)+n(C)-n(ANB)-n(BNC)-n(ANC)+n(ANBNC)
24 (3) Wi 2y,

GEIB 23 : X U Y ML 50 1esl, X+l 28 ©lesl 2 Y i 32 ©esl €ld ddl 6l 918l X 2 Y 2A1ddl 69, cll
X NY Hl Seal wes ¢l ?

G4 1n (XUY)=50,n(X)=28,n(Y)=3228,nXNY)=2

WPWAn(XuY)=n(X)+n(Y)-n(XNY)-lGudldl sdl,
n(XNnY)=n(X)+n(Y)-n(XuUY) e

=28+32-50=10

(XNY)
ofly Ad [FARAW URL S n (X NY) =k 8, dl 2ugld 1.12
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n(X-Y)=28-k,n(Y-X)=32-k (gl 1.12 <l d-2ugl giRy)
well, 50=n(XUY)=nX-=Y)+nXANY)+n(Y=-X)
= (28—k)+k+(32—k)
wel, k=10
Gelgael 24 : 218 ouHl 20 Biast @i vaal ollasfisuq dlvd 8. 20 Bast sl 12 alRid alvd 8
w4 elllaslEatia 2 aBicl oid [aMy dlvd 8. seal Riast ellfasfisuq dlviadl ga ?

Bie @ Rl 3 ol dluiadl Rasil ol M A elilesfstil dlviadl Blasicl o P 8, s2ussl
(el “vual” 2oe 2uBlAd ALWRIEL dal Ui Aot HedlRldl GuUlal sdl ¥AA W 8. ¢4,
n(MUP)=20,n(M)=1261n(MNP)=498.

28], 7 (P ) Aaraal SREA edlaA,

WRR n (MUP)=n(M)+n(P)—n(MANP) -l Guylol $ql,

20=12+n(P)—4 404l

WH, n(P)=12

el 12 [Rast efllas@sud dlvid 8.
Gerganl 25 ¢ 35 [Renadllicn aoldi 24 4 B3z e A & 2 16 A ol g A 8. ¢35 [enell o
el el 2l s M Wl ude s B, Bz A geollel ol W el el el
ue sl sl ?
G5a : a1zl 3 (32 el ule sl Rienaladl-l s X 21 geolial ¥l ue sl Raelzi-dl o
Y 8. X UY ¥ el 24l 215 ul ™dl ude sl Renalaii-l ol ugl 2 X A Y 2 ol ud
el ude sl [Renel>ii-l o asl,

n(X)=24,n(Y)=16,n(XUY)=35204 8, n(XNY)=?

WAn(XuY)=n(X)+n(Y)-n(XNY) -l Gualdl i,

35=24+16-n (X NY)uda.

2WH, n(XNY)=5

ed & 5 [enalail oirl md ™al ue 52 D,

Belgal 26 25 ol 400 [Renla- Hixel 530, 100 Renal usAL 0 WA 8, 150 uail-l
WA 8 21 75 [Rretel2ll us9 dxe Ul oAl 22 Wl 9. Seal [Rienalail us 214 1ol U]

syl 2 Yldt -el?
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Gia : A % o [Qenel2-l Aorell sl 2uell dxAL oL U & A 15% el 2 Wl Renal2Al o A

dal «UalAl 2 Yl Rrenglii- o B 9.
n (U) =400, 7 (A) =100,n(B)=150 - n (A NB)=75 4.
n(A'nNB)Y=n((AuUB))
=n(U)-n(A U B)
=n(U)=n(A)—n B) +n(ANB)
=400-100-150+75=225
e, 225 [erenelall Aso 214 AUl U5l sS4l weL 22 Wldl A,

Gelg2eL 27 s M4 ulBainl 200 [Fail 9. 120 [Faila et C, A 50 A [FA2ilA 1ueL C, -l

U2 HEH Ul 2 30 A ol 2UUB10L C) Ao Cyeill 2R e udl.
(i) 118l C, (1 22 14, U 148 C,+{l AR €l
(ii) 221481 C, {l 2242 €1, U 481 C) (L AR L S,

(iii) 24148l C) el 20UR1L Cyell 22 Hed udl el dell calSeiadisl Avay .

e R 3 A g€l ool calFax-l ol AldBrs oLl U 8. 1 uuel C, -l 2Rl

U [FA2ilel o8l A dal RAUUBL C, -l @uzensil [Fa2lL 2L B, |U

n(U)=200,n(A)=120,n(B)=504n(ANB)=30 9
(@) usld 1.13 «{l dt-2usld uel,

(ANB)
A=(A-B)U(ANB).

2ugld 1.13
n(A)=n(A-B)+n(ANB) (A—=B 2+ A N B 24421 28l €lanl)

wWell n (A-B)=n(A)-n(ANB)=120-30=90

w12l U181 C Al AU 1, U 21481 Cy el 2R A €l dell Sl Ava 90 8.

(i) usld 1.13 el

B=(B-A)U(ANB).

wed 2, n (B) =n(B-—A)+n(ANB) (B—A - A N B 2edl deL glaiyl)
Wl n (B=A)=n(B)-n(ANB) =50-30=20

M, 2R C, {1 AR €1y, U U481 C) {1 2122 L €l dell sl v 20 8.
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-

(iii) R0 C, 2l R C, -l 2142 Mgy Udl Gl dell sl Ava 2ed 3,
n(AuB) =n(A)+n(B)-n(AnB)

=120 + 50 — 30 = 140.

LAl R XnAA Y HRZ (X )=17,n(Y)=2324n(XUY)=38&l, dln(XNY)WHlL
2. AL6LABL X A Y HIZ X U Y HU 18 42sl, X Ml 8 825l v Y 4l 15 425l €1, dl X N Y i 32ell 428l ¢ ?

3. 400 cd[SctvilqlL uq8uL, 250 [Br€l ollell 65 O i 200 20U ollell A3 9, dl S2ell ulsaAvil (8-l 21
A oA ollell As ? 400 WSl e35 alEd 2 6L UL 200 el 2L o ofiell ub ©.

-

4. %L 6L AR S 2l THIZ S Ml 21 825, THI 32 825l 24 S N T HL 11 925l €1, dl S U T ¥l Seal

u2sl sal ?

5. 60208l X ol Y 2l £9 5 218l X ML 40 8esl, X UY HI 60 a2sl 21 X N Y 1 10 82sl €l dl Y |l 32el
gesl eal?

6. 70 culZaill gunl, 37 515l ude 53 O e 52 culsand AL wde . dal e3s s 2w ol vleinial
LML g s e ude 53 8. Seell Sl 5181 2 AL ol ude 3 8 7

7. 65 sl guul, 40 (332 ude 53 9, 10 (352 2 2[AA old ue 53 9. Seall calsasil wiat 2

ue 53 O U (332 ue scl A2l ? Seen 2Ry ude 53 8 7 65 Ul e3s @uls 2w oL UL 2ol el
25 d Wie K2 V.

8. s AR[AML 50 UlEd2l 24 olld ©, 20 AU oA € e 10 UlEcvil oid AU[HA 2l §U ol 6lld

9. Seell culFaxil il 6l eusAHis] 219l 29l 25 euml oliel us 8 2

uslel Gergel
Geldaw 28 : 251Ul 5 “ CATARACT ” 26t cvicll Hi2«ll %33 HousRl xid “ TRACT” 268 cvial Hi2-ll

o331 HOUARAAL 21RL UMLL 9.

B34 : “CATARACT” 26g-l a3l 218l X = { C, A, T, R } 4dl.

%l “ TRACT” L 283+l 218l Y e dl,

Y={T,R,A, C}

X el 835 825 Y HL A Y Al 835 825 X 1l dleudl X =Y.
GELSRBL 29 : { =1, 0, 1 } 8Ll 614l o Guatell]l ULl oiridl,

Bia : IR 3 AR A={—1,0,1} &, 35 UBlL A « 14 deil 8L vieldel ¢ A A Al GUaLeL . FHi x5 u6d
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€l deal A Al GUaLBIL {—1}, {0}, {1} ®. ¥4l 6l uesl €l dell A AL Guall {-1, 0}, {1, 1}, {0, 1} 8.
ABL ©25lAll A AL Guatel A Uld o €. el 28l A AL dMiM Guall ¢, (=1}, {0}, {1}, {-1, 0}, {1, 1},

{0, 1} 24 {~1,0, 1} 8.

Belg20 30 : AbBLld 5 3 XL AUB=ANB &Y, dl A=B.

Gia A S aec A.wdlac AUB.6¢dAUB=ANnBélkudl,ac AnB.2»lac B.
WS, AcB. s ¥d ¥l be B,dlbe AUB.
AUB=AnBéadl be AnB.2utlbe A. "2, BC A . 2UMA=B

Gelgam 31 : 51SusL AL A A B W2 Ald A 5, P(ANB)=P(A)NP(B).

Bid %l Xe P(ANB),dlXc (AN B). 2, X c A X cB.
HWEXeP(A)xUi Xe P(B).ddlXe P(A)NP(B).2WAP(ANB)cP(A)NnP(B).
HIRL5Y e P(A)NP(B).dlYe P(A)udYe P(B). 2dl,YcAxdY cB.
WS, YC(ANB).duwdlYe P(ANB)ul.
w10, P(A)NP(B))cP(ANB)
2WH,P(ANB)=P(A)NP(B).

BElg2L 32 1 A s oA %8 1000 Gueiisclatledl Hiwnll 52 2 2 § 720 ALesl Gulert A ue

53 8 i 450 Geulert B ue 53 6. ol Geulerl Ut 527U GUOLsclL-ll =i-d¥ Avul s2eell ¢l ?

G5e : uIRL & FHA Geulert AolH]l Wad YUl €l dal GUellsclii-l oL U 8. Gellert A uie s3I

GUAlLSAl2ALAL 21l S 6 el Gelllerl B Ul 41 GUOLLSUL-AL 28l T 6,
n(U)=1000,7n(S)=720,n(T)=450
wWell n (SUT) =n(S)+n(T)=n(SNT)
=720+450 —n(SAT)=1170-n(SAT)

We, AL n (SN T) At 81U dl AL dl % 7 (S U T) Ui 48 VR (SUT) cUdlaEdl n(SUT) <n (U) = 1000.
el 7 (S UT) L Hetd Hed 1000 8. M, 7 (SN T) L =LAd¥d Hed 170 8. 2l 6l Geuler uAe
5311 Buellsclel =—irdd AvalL 170 9.

Gelgael 33 : 500 HieaMilas [avus AL My uRl 5 A usi-l il il AvuL 400 2t

B usie(l Ml2a-lt Mifesiddl Avan 200 9. s 50 Mz a5l A 2 B oiedl usi-l Hler ud 8. g

L HL[E Al 22l ¢ 7
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Bia s w1l 3 HlzaMilSiAL AdaRidl 2L U B, A usia-l dizacil “ildsidl 3t M x4 B Ui+l #ie

Haleldl Hifasidl oLl S 6.
n(U)=500,n(M)=400,7(S)=2002n (S M)=5021u .
8d n(SUM)=n(S)+n(M)=n(SAM)=200+400—50=550
W SUM)cU ddln(SUM)<n(U)ad S
21 (AR 8. 2l 2 WlRdl w2l el

GElgR8L 34 1 ¥s SlA% g1l Yl :dML 38 2ssl geoliadl, 15 ollrseollal v 20 B3zul Arid sl
BLedl. %L UL Ag5L e 58 YA HoUL 1d 2 Aot 3 YA 8L 4L A5l Houl U, dl eell euafsad

ARMLY] GRAGR 6l Ags MUl gol ?
B5e : MR S F, B 2 C 2wy geoliel, olRbeolle 2 Biaul Y Holel 2Agsidl oL 8,

d, n(F)=38,n(B)=15nr(C)=20

n(FUBUC)=582uin(FNBNC)=389. U

F n B
Wwe,n(FUBUC)=n(F)+n(B)+n(C) »fda
-—n(FNB)=n(FNC)-nBNC)+n(FNBNC), C
Widln(FAB)+n(FNC)+n(BNC)=184d. ausl 1.14

25l 1.14 4L oicidel det-2igla LS.

L, Hiol geolid e olizdeollaul 2gsl doddl Y-l Advaid g ad ealdla, Mol geolia wu-d
(B3eul 2gsl Aoadl Yaui-l dvad b ol suldla. diol surbeelia 2 B3l 2Agsl Aaadl Y-l

Aval ¢ ad elelal v seld ucdnl Agsl Aol Y-l 0vaid d ad sulelai.
WH, d=n(FABANC)=3vda+d+b+d+c+d=18
W2, a+b+c=9

WU, U 2L HAMLE] 61RA6IR 6L % AL Assl Aara-A1R Yl AvalL 9 8,

uslel 2y 1
1. 12 2ude ool Usl 41 oweL »ulie owell U8l suL orerl Guoatel 8 d sl s
A={x:xe RuAx {52 x2— 8x + 12 = 0 { AWM £ B},

B={2,46},C={2,4,68,...,D={6).
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2. «AlaAl U8l eds [dnial sy At A 54 AU B d 455l K2
(i) Ylxe Au1Ae B,dlxe B
() LAcBuw1Be C,dlAe C
([{i)¥LAcBA®ABcC,dlAcC
(iVAAZBuAABzC,dlAzC
(V% xe A1 AzB,dlxe B
(Vi)LAcBuwdxe B,dlxeg A
3. AU A, BUACHZAUB=AUCAHILIANB=ANCHS. Allid 521 3, B=C.
4. Al 520 5 Al 2ulel 34 AL AUSH S ¢
()AcB (i)A-B=0¢ (i) AUB =B (ivVANB=A
Ay : 2l 248 2 3 (1) = (1) 2R (1) = (1) @92, A 1R (1) = (i) = (i) = (iv) = (1) Wi s
5. ABd 53 3 Ac B, dl(C-B)c(C-A)
6. %ALP(A)=P(B) &, dl abid 51 3 A =B.
7. s16usL o8l AAABHRZ P(A)UP(B)=P(AUB)AA D ? duil wclioi-l qaieldl sl
8. S1SuBL ARL A 2 B M2 ALlBid 5 3,
A=(ANB)U(A-B)d1AU(B-A)=(AUB).
9. ol opRiel-lL Guylol s WlBid 52U 3
AHAU(ANB)=A  (i)ANn(AUB)=A.
10. A8 5L AN B=AN Cul B =C &l a5 3.
11. A2 BRIl 8, sl o X M2 NANX=BNX # ¢l AUX=Bu Xl aled 521 5 A=B.
AV A=AN(AUX), B=B N (B uUX)ud [Qeuy-dl Rau-l Guala s21.)

12,9081 A, B id C 2iel itl 5 ¥4l AN B, BNC 24 AN C 1R5c 2l &t 214 AN B N C = ¢ oi-.
13. 25 aourl 600 Rietel2iql acdael 150 Rienelail 2 Wldl gl 24 225 5181 ulell gl
100 (el AL 21 5181 oA Wldl ¢dl. 581 244 A1 oA UL sSuat AR Wl [Renelii-{l Avan .

14, Renalaiiae 215 gunl, 100 Reneladl Rl 8 8, 50 20w MEl & A 25 oid oudL el 9.

2l gl seell Renela(l ea ?
15. 60 AlFAirl AcLRIHL, 25 AlFAll AHIARUSL H ellAdl, 26 AHIAIRUSL T alddl, 26 UHIAIRYSL T dldl,

9 H ot TaiAdl, 11 H A Told dldl, 8 T2 T dldl d2ll 3 M AHIARUA diAdl HIgH UKL
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(i) 2AOHL LY S5 AHIRARUAL AR

(i1) M12L 2S5 % AHIRARUAL AlAAR S Aval ML,

16. 25 AdaLml 21 A5 Gaulerd A ude 52 8, 26 Geulerl B ude 53 © 214 29 Gculerl C uAe 53 8.

® & & & & o o o

<

ofl 14 u[Fa2il Geulerl A 2 B ol ude sl €lu, 12 cdlsdail Geuled C 2 A Ude sl €1,
14 (521l Geulerl B e C ule scll €la dul 8 culsail 218l Gauled uie sl €lu, dl st
Beuler C udle sdl cdlFaatl-l 2wl M.
AU
L UL 2Rt elR] Al Feells vl il 21 wFaill 2l sl 8. dudl ARl
A wuel B -
areL ¥ Yl cRqil-L AN 8.
% Bl ¥i§ UBL AU HAedl Al dA vuelowl s O,
% LBIHL [(FLAd AvLeAl 825l Blclel S1U, del ULecldIBL 5& €9, UL ABLA ielcl ARl 56 B,
%L AL A el B HI 6LRAGIR Bisell s % 825l S1, cll dHel UHIA 8L 56 69,
%1 218l A il U5 B2s A8l B il Bes 1M, dll AL A A B <l Gudal 5& 9. vidue 2 R AL Guaeil 9.
A <L dMIH GURLRILAL AR A il BLddRL 58 8. d- P(A)l sula 8.
ABL A HI 1M UL 218l B I €14 dell I H2sidl AR A el B Al 2121218l 58 69,
AL A el dURL B Al 61tL % UMY 82512l eirlcll 218l A 2 B «ll 92181 58 ., 2181 A i B il il
of UL cgleld IRl H2d 8L A Hi €14 U, B Ul L 14 dal H2sil oL,
AL BLs 218l U L deolul A L Y5 218l U Hi €ld U, A HL <L 1d del dHd 82si-il oL,
s15ueL 6l 3Bl Aud B HIZ (AUB) =A"NnB' 34 (ANB) =A'"UB'
AN B=¢ € dell ARl A 2 B €1, dln (AUB)=n(A)+n (B). XLANB # ¢, dl
n(AUB)=n(A)+n(B)-n (AN B).

Historical Note

The modern theory of sets is considered to have been originated largely by the German
mathematician Georg Cantor (1845-1918). His papers on set theory appeared sometimes during
1874 to 1897. His study of set theory came when he was studying trigonometric series of the form
a, sinx + a, sin 2x + a, sin 3x + ... He published in a paper in 1874 that the set of real numbers could not
be put into one-to-one correspondence wih the integers. From 1879 onwards, he publishd several papers
showing various properties of abstract sets.

Cantor’s work was well received by another famous mathematician Richard Dedekind (1831-1916).
But Kronecker (1810-1893) castigated him for regarding infinite set the same way as finite sets.
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Another German mathematician Gottlob Frege, at the turn of the century, presented the set theory as
principles of logic. Till then the entire set theory was based on the assumption of the existence of the set of
all sets. It was the famous Englih Philosopher Bertand Russell (1872-1970 ) who showed in 1902
that the assumption of existence of a set of all sets leads to a contradiction. This led to the famous Russell’s
Paradox. Paul R.Halmos writes about it in his book ‘Naive Set Theory’ that “nothing contains everything”.

The Russell’s Paradox was not the only one which arose in set theory. Many paradoxes were produced
later by several mathematicians and logicians. As a consequence of all these paradoxes, the first
axiomatisation of set theory was published in 1908 by Ernst Zermelo. Another one was proposed by
Abraham Fraenkel in 1922. John Von Neumann in 1925 introduced explicitly the axiom of regularity.
Later in 1937 Paul Bernays gave a set of more satisfactory axiomatisation. A modification of these axioms
was done by Kurt Gédel in his monograph in 1940. This was known as Von Neumann-Bernays (VNB) or
Godel-Bernays (GB) set theory.

Despite all these difficulties, Cantor’s set theory is used in present day mathematics. In fact, these

days most of the concepts and results in mathematics are expressed in the set theoretic language.

o,
—_—



